
FS225 V2 Manual

M3*14mm Screw

M3*30mm Screw

M3*6mm Screw

M3*6mm Screw

Top plate

M3*11mm Screw

M3 Pressure riveting nut

M3 Pressure riveting nut

1.Fix middle plate, bottom plate and arm

2.Add nose, tail and stack screws

3.Add 25mm and 32mm Aluminum post

4.Add side plate and top plate and fix them

Installation

Frame bottom plate*1

Frame middle plate*1

Arm*4

Nose

Tail

25mm Aluminum post*4

32mm Aluminum post*2

CNC side plate

Wheelbase

Weight

Material

Frame Height

Camera fixed Width

Stack Fixed size

VTX fixed size 

Top/Middle/Bottom plate thickness

Arm Thickness

225mm

119g

Carbon Fiber, Aluminum 

36mm

19*19mm / 20*20mm

30.5*30.5mm / 20*20mm

20*20mm / 30.5*30.5mm Compatible with DJI Sky

2mm

5mm

Basic Parameters


